SAP ABAP table V. THMH EFF VAL {Generated Table for View}

V_THMH_EFF_VAL-MANDT = T000-MANDT T000

- h MANDT [CLNT (3)]

TOO1

MANDT [CLNT (3)]
V THMH EFF VAL-BUKRS = T001-BUKRS
- - - N | BUKRS [CHAR (4)]

- THMEXT_PLANNER

V THMH EFF VAL-HEDGEPLAN ID = THMEXT PLANNER-PLANNERID MANDT [CLNT (3)]

V THMH EFF VAL-HEDGE ID = THMT HEDGE ITEM-HEDGE ID 0..N BUKRS [CHAR (4)]

—_— PLANNERID [CHAR (13)]

- THMT _HEDGE_ITEM

V THMH EFF VAL-HR RFHA = VITBFHA-RFHA 0..N | MANDT [CLNT (3)]

BUKRS [CHAR (4)]

- HEDGE ID [NUMC (10)]

N VTBFHA
——-— MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RFHA [CHAR (13)]




